
Berkshire 

$10 billion Precision Castparts impairment. Paid $31 billion for it. 

 

Pretty good given the environment – operating earnings not far from 2019. Don’t get 

confused by the accounting for stock prices going up and down and the impairment. 

 

So, it is likely over the long-term BRK will keep earning approximately $24 billion in 

operating earnings form the busiensses, then we have the hidden earnings from the companies 

owned, the growth etc. 

So, let’s say $32 billion earnings – likely growth ahead of 5% plus 4% buyback yield. So, 

expected return now is around 7 to 8%.  

Cash pile remains huge 



 

Nothing really to add except for the higher buyback activity. They can’t buy much due to the 

liquidity of the stock.  

$30 billion of created value per year will likely give a return of  around 7 to 9% on the 

current market capitalization of $500 billion.  

There will be some growth and buybacks from the earnings so to keep that in mind.  

Old stable good Berkshire!. 

 

 


